PHYSICS REVIEW QUESTIONS (CH. 12 AND 13) ANSWERS
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a) 18.2 m/s; b) Because average speed s defined as the total distance traveled divided by the time required to
travel that distance, and both of those pieces of information are provided in the problem, no assumptions
must be made about the horse’s motion to answer the question.
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Use What You've Learned—Suggested Answers
7.A 8.C 9. A 10.B

11.a) 3 m/s [E] at 6 s and 4 m/s [E] at 10 s; b) 32 m; ¢) 2.3 m/s [E]; d) acceleration at 5 s = 0.5 m/s? [E];
acceleration at 9 s = 0 m/s?; acceleration at 12's = —1 m/s* [E] (or 1 m/s* [W])
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Reflect on Your Learning—Suggested Answers

14. Sample answer: Studying motion in this unit has taught me that speed and velocity are not the same
thing. Now I know that a car travelling along a circular track at the same speed as one driving on a
straight road has a different velocity. Studying motion in this unit has also taught me that acceleration
doesn't always have to mean speeding up. Now I know that something that is slowing down is also
accelerating, and I know what negative acceleration means.




